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1 Introduction 

This paper discusses the non standardised part of ANR function description to achieve X2 CP IP address, and proposes a standardised solution.
2 Discussion
In the description of the ANR function it is not standardised how the lookup of transport layer address is achieved for the X2 CP to a newly discovered neighbour in the ANR function. It is FFS whether this needs to be standardised by 3GPP. Current assumption seam to be that the eNB IP address retrieval is done using a Domain Name System (DNS). We think that standardising this part of the NRL self-configuration would be beneficial, but if so, standardising a DNS based solution is not the mostly attractive way.

Usage of DNS for translation of CGI to eNB IP address comes with certain disadvantages:

· A configuration effort of the DNS server is required, and the DNS server has to be reconfigured whenever an eNB IP address or CGI is changed.

· If the IP address of an eNB is changed, the change will not take effect in affected nodes until their DNS caches time out.

· Difficult to get vendor agreement on DNS interfaces. 

We propose that the eNB retrieve enough information from the UE about the neighbour cell to be able to perform a S1 handover to the new neighbour. The first thing that the serving eNB does is to prepare an S1 handover to the new cell. At the handover acknowledgement, the target eNB sends an X2 IP address back. One advantage of performing S1 handover for the first UE is that the handover can be quick, since no transport layer address look up is needed and SCTP initiation and X2 Setup would take additional time. An implementation could be that the eNB performs a couple of S1 handovers before X2 is set up, to see how successful the handovers are and to judge the suitability to set up an X2. An alternative implementation is that X2 is setup immediately.
If an X2 is already established between two eNBs then there is no need to perform the S1 handover. Note that an eNB knows whether an X2 or an S1 handover is to be performed, since it knows all the cells served by the neighbour eNB after an X2 Setup.
3 Proposal
We propose that RAN3 discusses and accepts the proposed solution. 
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